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ANSWER KEY 
 

PART II: READING COMPREHENSION (30 MARKS) 
 
A. Choose the best answer. (5x2=10 marks) 
 
1. People in India do not eat beef because …(c) they do not eat cows. 
2. Japanese people use chopsticks…(b) to eat. 
3. The Japanese people … (b) always say “thank you”   at the end of a meal. 
4. After a meal the Japanese drink …(c) tea. 
5. Aborigine men and women… (b) never eat together. 
     
 
B. Answer the following questions according to the text. (5x2=10 marks) 
 
1. They eat from the same bowl and they use their hands.     
2. Because they think it is not polite. 
3.  Fish and rice. 
4. Kangaroo meat. 
 5. In a hole in the ground. 
     
 
C. Choose the best meaning of the underlined words in the text. (5x2=10 marks) 
 
1. (a) thought 
2. (b) hot 
3. (b) nice 
4. (a) show 
5. (b) not together 
 
PART III: VOCABULARY (20 MARKS) 
 
A. Circle the word that doesn’t fit. (5x1=5 marks) 
 
1. d. (images) 
2. b. (trap) 
3. a. (space) 
4. b  (clear) 
5. c. (floor) 
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B. Match the opposites. (5x1=5 marks) 
 
1. d          2. e          3. a          4.  c          5. b 
 
 
B. Choose a word from the box to complete the blanks. (10x1=10 marks) 
 
  1. cycling 
  2. invented 
  3. improved 
  4. uncomfortable 
  5. however 
  6. dangerous 
  7. safer 
  8. rubber 
  9. transport 
10. healthy 
 
 
PART IV: GRAMMAR (30 MARKS) 
 
A. Choose a, b or c to fill in the blanks. (10x1=10 marks) 
 
  1. He looks friendly, ______?  (a) doesn’t he      
  
 2. Tim _____ to a party last week. (c) was invited 
 
  3. Helen is ______ intelligent person I’ve ever met. (b) the most      
 
  4. You ______ to get up early today. You can stay in bed. (b) don’t have      
 
  5. _____ you go to bed early, you’ll feel tired. (b) Unless      
 
  6. You _____ wear a jacket. It’s cold outside. (c) should 
 
  7. I ______ do my homework, so I asked my brother to help me. (a) couldn’t      
 
  8. My father drives very ______ .  (c) carefully     
 
  9. If they lived by the sea, they ______ swimming every day. (c) would go 
 
10. A spider is an animal ______ has got eight legs. (a) which      
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B.  Put the words in order to form correct sentences. (5x2=10 marks) 
 
1. A lot of junk food is eaten by children. 
 
2. Sara, who is a snowboarder, has won many medals. 
 
3. If I had a lot of money would buy a new computer. 
 
4. Travelling to other countries is exciting. 
 
5. Ben is too short to reach the shelf. 
 
 
C. Choose the correct form of the verbs in brackets. (10x1=10 marks) 
 
  (1) shouldn’t  
  (2) will  
  (3) could 
  (4) are played  
  (5) were   
  (6) Playing   
  (7) have to  
  (8) have 
  (9) mustn’t  
(10) would  be   
 
  


